ARSB

@
Y
7]
GAS VALVE
DESIGNED & BUILT IN USA

o
A\
—_—i
N/ | £
7 =
= |3
—il3
N | =

nge.com

oima, CA 91331 818.897.0808 888.753.9898 www.americanra

13592 Desmond St., Pac

17



ARSB

ITEM NO. PART NO. DESCRIPTION PRICE
2 A14015 Burner, Infrared ARSB 10477 Old Style 12-3/4" x 7" $ 340
A80011 Valve, Pressure Regulator 3/4 10481 LPG Gas Set 10.0 40
3 A80110 Valve, Pressure Regulator 3/4 10480 Nat Gas Set 5. 40
4 A43007 Bearing, Ball Sm 1/4" ID x 1" OD 10491 High Heat 30
5 A31021 Rack, ARSB-36" 2901/2" x 13" 10505 Old Style 206
6 A31029 Rack Frame Assembly for ARSB 753
7 A32150 Bracket, Door Handle Heavy Duty 18164-Chrome Plated AR Range 48
8 A53071 Tube, Handle ARSM-36" Heavy Duty .049W 1-1/4" x CTL 180 Grit 48
9 A32016 Knob, Ball 1-3/4 3/8 Insert 10490 New Style 17
10 A43017 Bearing, Ball 3/4" ID x 1-5/8" OD 10507 High Heat 48
12 A38000 Name Plate, American Range 8" 10499 Quality Commercial Chrome 24
13 A44003 Nut, Speed #6 Push Black 10601 .60
14 A99543 Crumb Tray, ARSB-36" 10285 180
15 A32001 Knob, On/Off Glossy Black Flat Down 17
16 A80109 Valve, Gas Manual On/Off UL 10419, AR, ARKB, ARRB, AECB 30
17 A29300 Valve, Pilot Elbow Adjustable 10418 1/8 NPT 3/16 CC 15
18 A15040 Manifold, ARSB-36" Dual Burners 10286 192
19 A29106 Elbow, Infrared Burner No Spud 19
A11108 Pilot, Nat Gas .026 3/16" 6CH24-2 "T" Style ARSB 48
A11131 Pilot, LPG Gas .016 3/16" 6CH24-2 "T" Style ARSB 48
20 A11110 Orifice, Bell 0.018 Nat Gas 11001
A11118 Orifice, Bell 0.010 LPG Gas 11002
21 A28028 Adapter, 3/8c X 3/8-27 Brass

All prices subject to change without notice.

DESIGNED & BUILT IN USA

PROFESSIONAL COOKING EQUIPMENT

13592 Desmond St Pacoima, CA 91331 818.897.0808 888.753.9898 www.americanrange.com

18

AMERICANM RANGE

QUALITY COOKING EQUIPMENT






